### E. BID QUOTATION SHEET

PARKWAY - SOUTH REGION MP 0.0 - 106.0

| ITEM                       | QTY | UNIT  | DESCRIPTION                                | UNIT      | TOTAL            |
|----------------------------|-----|-------|--|-----------|------------------|
|                            |     |       |  | PRICE     | DOLLAR<br>AMOUNT |
| 1.                         |     | CREW  | NORMAL WORK SCHEDULE TREE                  |           |                  |
|                            | 608 | HOURS | TRIMMING CREW-3 MAN, as per                | \$ 2,0 00 | \$ 1000 1100 10  |
|                            | 008 |       | attached specifications                    | 210,00    | 188,480.00       |
| 2.                         |     | CREW  | EMERGENCY CALLOUT/OVERTIME/                |           |                  |
|                            | 8   | HOURS | HOLIDAY TREE CREW-3 MAN, as per            | \$ 210 00 | \$ 2,480,00      |
|                            | O   |       | attached specifications                    | 510.      | d, 480.          |
| 3.                         | 88  |       | LOG TRUCK, as per attached                 | 22        |                  |
|                            | 00  | HOURS | specifications                             | \$ 120,00 | \$ 10,560.00     |
| 4.                         | 0.6 |       | CRANE, as per attached specifications      | -2 (3)    |                  |
|                            | 96  | HOURS | - HA                                       | \$ 150,00 | \$ 14,400.00     |
| 5.                         | 0.0 |       | ADDITIONAL LABORER(S),                     | 50 00     |                  |
|                            | 80  | HOURS | as per attached specifications             | \$ 50.    | \$ 4,000.00      |
| 6.                         | 104 |       | ADDITIONAL CHIP TRUCK,                     | C0 00     |                  |
|                            | 104 | HOURS | as per attached specifications             | \$ 50,00  | \$ 5,200.00      |
| 7.                         | 16  |       | STUMP GRINDING,                            | 0 = 00    |                  |
|                            | 16  | HOURS | as per attached specifications             | \$ 25.00  | \$ 400,00        |
| 8.                         | 16  |       | SKID STEER, as per attached specifications | 25 00     | 1.0 0 00         |
|                            | 10  | HOURS |  | \$ 25.00  | \$ 400.00        |
| 9.                         | 80  | HOUDE | SPIDER LIFT, as per attached               |           | 0                |
| 9.                         | 80  | HOURS | specifications                             | \$ 100,00 | \$ 8,000.00      |
|                            |     |       |  |           |                  |
| TOTAL OF LINES 1 THROUGH 9 |     |       |  |           | \$ 233,920.00    |

### **BID QUOTATION SHEET CON'T.**

PARKWAY - CENTRAL REGION MP 106.0 - 145.0

| ITEM                       | QTY | UNIT   | DESCRIPTION                                | UNIT                                    | TOTAL         |
|----------------------------|-----|--------|--|---|---------------|
|                            |     |        |  | PRICE                                   | DOLLAR        |
|                            |     |        |  |   | AMOUNT        |
| 1.                         |     | CREW   | NORMAL WORK SCHEDULE TREE                  | *************************************** |               |
|                            | 660 | HOURS  | TRIMMING CREW-3 MAN, as per                | \$ 260.00                               | \$ 171 (0000  |
|                            |     |        | attached specifications                    | acc.                                    | 171,600.00    |
| 2.                         |     | CREW   | EMERGENCY CALLOUT/OVERTIME/                |   | 1000          |
|                            | 8   | HOURS  | HOLIDAY TREE CREW-3 MAN, as per            | \$ 260.00                               | \$ 7000 00    |
|                            |     |        | attached specifications                    | X OC                                    | X1080.        |
| 3.                         | 120 |        | LOG TRUCK, as per attached                 | 2                                       | 5.8           |
|                            | 120 | HOURS  | specifications                             | \$ 100.00                               | \$ 2,080.00   |
| 4.                         |     |        | CRANE, as per attached specifications      |   |               |
|                            | 56  | HOURS  |  | \$ 150.00                               | \$ 8,400.00   |
| 5.                         | 0.0 |        | ADDITIONAL LABORER(S),                     | W. 17                                   | 00            |
|                            | 80  | HOURS  | as per attached specifications             | \$ 45.00                                | \$ 3,600,00   |
| 6.                         | 0.6 |        | ADDITIONAL CHIP TRUCK,                     |   | 71.           |
|                            | 96  | HOURS  | as per attached specifications             | \$ 50.00                                | \$ 4.800.00   |
| 7.                         | 2.4 |        | STUMP GRINDING,                            |   |               |
|                            | 24  | HOURS  | as per attached specifications             | \$ 2500                                 | \$ 600.00     |
| 8.                         | 0.4 |        | SKID STEER, as per attached specifications | 120                                     |               |
|                            | 24  | HOURS  | a g  | \$ 25.00                                | \$ 600.00     |
|                            | 00  | HOLIDG | SPIDER LIFT, as per attached               |   | α             |
| 9.                         | 80  | HOURS  | specifications                             | \$ 100.00                               | \$ 8,000.00   |
| TOTAL OF LINES 1 THROUGH 9 |     |        |  |   | \$ 211,680.00 |

Page 8

### BID QUOTATION SHEET CON'T.

PARKWAY -NORTH REGION MP 145.0 - 172.3

| ITEM                    | QTY  | UOM    | DESCRIPTION                                | UNIT      | TOTAL          |
|-------------------------|------|--------|--|-----------|----------------|
|                         | 5544 |        |  | PRICE     | DOLLAR         |
|                         |      |        |  |           | AMOUNT         |
| 1.                      |      | CREW   | NORMAL WORK SCHEDULE TREE                  |           |                |
|                         | 632  | HOURS  | TRIMMING CREW-3 MAN, as per                | \$ 230.00 | \$ 145,360,00  |
|                         |      |        | attached specifications                    | Q 50.     | 1 1313 0000    |
| 2.                      |      | CREW   | EMERGENCY CALLOUT/OVERTIME/                |           |                |
|                         | 8    | HOURS  | HOLIDAY TREE CREW-3 MAN, as per            | \$ 230.00 | \$ 1 (711) (1) |
|                         |      |        | attached specifications                    | 0,50.     | 1,840.         |
| 3.                      |      |        |  |           |                |
|                         | 96   | HOURS  | LOG TRUCK, as per attached                 | \$ 100,00 | \$ 01.0000     |
|                         |      |        | specifications                             | 1001      | 9.600.00       |
| 4.                      | 88   |        |  | . 50 00   |                |
|                         | 00   | HOURS  | CRANE, as per attached specifications      | \$ 150.00 | \$ 13,200.00   |
| 5.                      | 0.0  |        | ADDITIONAL LABORER(S), as per              |           | /1 > ^^        |
|                         | 88   | HOURS  | attached specifications                    | \$ 50.00  | \$ 4,400.00    |
| 6.                      | 120  |        | ADDITIONAL CHIP TRUCK, as per              | C 40      | 1              |
|                         | 120  | HOURS  | attached specifications                    | \$ 50,00  | \$ 6.000.00    |
| 7.                      | 40   |        | STUMP GRINDING, as per attached            | 05 40     |                |
|                         | 40   | HOURS  | specifications                             | \$ 25.00  | \$ 1,000,00    |
| 8.                      | 22   |        |  | 0F 00     | 2000           |
|                         | 32   | HOURS  | SKID STEER, as per attached specifications | \$ 25.00  | \$ \$00.00     |
| 9.                      | 90   | HOLIDG | SPIDER LIFT, as per attached               | . 100,00  | 0              |
|                         | 80   | HOURS  | specifications                             | \$ 100,00 | \$ 8,000.00    |
|                         |      |        |  |           | 100 0000       |
| TOTAL ITEMS 1 THROUGH 9 |      |        |  |           | s 190,200.00   |

RM-167722 Page 9

#### BID QUOTATION SHEET CON'T.

TURNPIKE – SOUTHERN REGION MP 0.0 - 75.5 and PHMTE MP 0.0 - 6.0

| ITEM                       | QTY | UNIT   | DESCRIPTION                                | UNIT      | TOTAL        |
|----------------------------|-----|--------|--|-----------|--------------|
|                            |     |        |  | PRICE     | DOLLAR       |
|                            |     |        |  |           | AMOUNT       |
| 1.                         |     | CREW   | NORMAL WORK SCHEDULE TREE                  |           |              |
|                            | 688 | HOURS  | TRIMMING CREW-3 MAN, as per                | \$ 210 00 | \$ 0.0.052 4 |
|                            |     |        | attached specifications                    | 210,      | 213,280.00   |
| 2.                         |     |        | EMERGENCY CALLOUT/OVERTIME/                | 2 00      |              |
|                            | 8   | CREW   | HOLIDAY TREE CREW-3 MAN, as per            | \$ 310.00 | \$ 2/1920    |
|                            |     | HOURS  | attached specifications                    |           | 00 PIN       |
| 3.                         | 104 |        | LOG TRUCK, as per attached                 | 106 10    | (0)          |
|                            | 104 | HOURS  | specifications                             | \$ 120.00 | \$ 12,480.00 |
| 4.                         | 0.6 |        | CRANE, as per attached specifications      | 1         |              |
|                            | 96  | HOURS  |  | \$ 150.00 | \$ 14,400.00 |
| 5.                         | 00  |        | ADDITIONAL LABORER(S),                     | - 10      | 0            |
|                            | 88  | HOURS  | as per attached specifications             | \$ 45.00  | \$ 3,960.00  |
| 6.                         | 100 |        | ADDITIONAL CHIP TRUCK,                     |           |              |
|                            | 120 | HOURS  | as per attached specifications             | \$ 45.00  | \$ 5,400.00  |
| 7.                         | 1.0 |        | STUMP GRINDING,                            | 25 00     | 2 12         |
|                            | 16  | HOURS  | as per attached specifications             | \$ 25.00  | \$ 400.00    |
| 8.                         | 20  |        | SKID STEER, as per attached specifications | \$ 25.00  | V 2 (1)      |
|                            | 32  | HOURS  |  | \$ 0.7.   | \$ 800.00    |
|                            | 00  | HOLIDG | SPIDER LIFT, as per attached               | 10000     | 0            |
| 9.                         | 80  | HOURS  | specifications                             | \$ 100.00 | \$ 8,000.00  |
|                            |     |        |  |           | s 261,200.00 |
| TOTAL OF LINES 1 THROUGH 9 |     |        |  |           | \$ 201,20.   |

Page 10

#### **BID QUOTATION SHEET CON'T**

## TURNPIKE – NORTHERN REGION MP 75.5 - 122 AND HCTE MP 0.0 – 6.0

| ITEM                    | QTY | UOM    | DESCRIPTION                                | UNIT      | TOTAL                        |
|-------------------------|-----|--------|--|-----------|------------------------------|
|                         |     |        |  | PRICE     | DOLLAR                       |
|                         |     |        |  |           | AMOUNT                       |
| 1.                      |     | CREW   | NORMAL WORK SCHEDULE TREE                  |           |                              |
|                         | 480 | HOURS  | TRIMMING CREW-3 MAN, as per                | \$ 260,00 | \$ 1711 8 2 40               |
|                         |     |        | attached specifications                    | 2001      | \$ 124.800.00                |
| 2.                      |     | CREW   | EMERGENCY CALLOUT/OVERTIME/                |           | 0 10                         |
|                         | 8   | HOURS  | HOLIDAY TREE CREW-3 MAN, as per            | \$ 260.00 | \$ 2,080.00                  |
|                         |     |        | attached specifications                    | 7.001     |                              |
| 3.                      |     |        |  |           | . 0                          |
|                         | 96  | HOURS  | LOG TRUCK, as per attached                 | \$ 100.00 | \$ 9,600,00                  |
|                         |     |        | specifications                             |           | .,                           |
| 4.                      | 72  | HOLIDG | CD AND                                     | \$ 150 00 | \$ 10,800.00                 |
|                         |     | HOURS  | CRANE, as per attached specifications      | \$ 150.00 | \$ 10,800.                   |
| 5.                      | 80  |        | ADDITIONAL LABORER(S), as per              | 6 45 00   | 210000                       |
|                         | 80  | HOURS  | attached specifications                    | \$ 49,00  | \$ 3,600.00                  |
| 6.                      | 100 |        | ADDITIONAL CHIP TRUCK, as per              | 60.00     | (12)                         |
|                         | 120 | HOURS  | attached specifications                    | \$ 90.00  | \$ 6,000.00                  |
| 7.                      | 40  |        | STUMP GRINDING, as per attached            | 25 00     | 1 00                         |
|                         | 40  | HOURS  | specifications                             | \$ 25.00  | \$ 1,000.00                  |
| 8.                      | 22  |        |  | 05 00     | \$ 800.00                    |
|                         | 32  | HOURS  | SKID STEER, as per attached specifications | \$ 25,00  | \$ 000.00                    |
| 9.                      | 00  | HOURG  | SPIDER LIFT, as per attached               | 100 00    | Ø 0 00                       |
|                         | 80  | HOURS  | specifications                             | \$ 100.00 | \$ 8,000.00<br>\$ 166.680.00 |
|                         |     |        |  |           | 1/0/0 / 40 00                |
| TOTAL ITEMS 1 THROUGH 9 |     |        |  |           | \$ 100,000.                  |

Page 11

# ANY INQUIRIES CONCERNING THIS BID MUST BE SENT VIA EMAIL TO NOBLE@NJTA.COM NO LATER THAN 12:00 PM ON DECEMBER 1, 2021.

PURSUANT TO N.J.A.C. 19:9-2.2 (a)(3), Addenda will be distributed and posted on the Authority's website at least three days prior to the bid opening.

#### **NEW JERSEY TURNPIKE AUTHORITY**

Very truly yours,
Dale Barnfield, Director
Procurement and Materials Management

Name of Company

Authorized Signature of Bidder
Richard Lewardowskin President

RM-167722